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" Define Modulation Indexk.

+

Answer ALL 'qué‘stions:. .
PART A (10x 2= 20 marks)

D‘ifferentia‘te between Amplitude and I'requency Mddulatiqn“. '

" 'State the significance of constellation diagram?
| What is Balid-\lvidth efficiency?

. Mentidﬂ the advantages of digital transmission, .

What is the principle of pulse modulation? " *

~ State Shannon’s fundamental theorem of information theory. - .

kS

Define Han_l'm‘ing' distance (HD).

List the features of 'Han'd'off .Tec,hniql_Le-.- -

What is the advantagé of cell splitting concept?
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PART B (b x 18 = 65 marks) 3

Explain the operation of Super heterodyne receiver.

Or

Explam the prmcxple of AM modulatmn with mathematmal analysls
Draw the AM wave and explain its power dlstubutmn

Draw the block dlagxam of QPSK modulator, demodulatm and e'(plam

the principle of operation,

Or

" Describe the" basic principle of Quadrature amplitude inodtﬂétiqn.

- Conipa_re shift keying Techniques with 'QAM.

@

(b)

@

®

‘ codmg W1th sultable example.

ExpléihPulse. 'dee, Moduiatidn System with the help o-f'block diggraln‘. -

o

() Draw ‘the block chaglam of Dat‘i Commumcatmn system and

explain. Lo '. . ‘ (8)

(11) -Athat is the need for érror dei-:erction and correction Tek_:hniques? ()

Con31der a (5 1) linear block code defmed by the generator m'itux
G=pii | - :

X (i) - Find the parity check -I'natri)i H of the cdde in sysf:einatic form. ) |
.(_ii) ‘I‘md the encodmg table for the hueat biock code. o (2) -

(iii) What ié the minimum dlstance dm in, of the code How many errors

can the code detect How many enols can the code correct _ (2)

"(iy'r) .I“md ‘the decodmg table for the hnea1 block code (consulel smgle bit

-exrrors only), - . 7 R N G
V) Suppose e=[11111] is sent and r —[O 1111]is 1ece1ved Show
o how the code can correct thls error. - . - (3)

- Or

\

What is source codmg? Explain the steps 1nvolved in Shannon Fano
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Draw and explain-the architecture of GSM.

A(i)‘ |

(ii)

).

"~ Explain in detail the principle and operation of a CDMA systen_l.' '

© PART € — (1% 15 = 15 marks)

\Vhat are the Types a:u'ld benefifs of shift keying Techniques? N G) '

Explain’ the pmcess of Locatmg Co- channel Cells in a Cellulal

-Netwmk ' o (10)
Or _
Compare the bit error rate perfprmancg‘for_' PSK, DPSK élld ES‘K_._
:W1th the heip of an e‘(ample explam V1texb1 Convolutmnal.
‘D(,codlngAlgouthm S L ST (10)
)
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